A= R FIR

5 T
Vol o sk



(=)
T
2 AR R R LR A & B R FIRERYE,
BB H B e EBI R OB, B B+ rrrrerrrreeoeeeeeeeemoeroeee e 5
G AT HE ORI e oeeeeeeeeeesseeess e s
U BB EEHEE] s s
OFI o

1 HroHAE, JFAE LTUBELALTH L7290, REENEOBMEITLTLL —ET 55D TIHRW,
2 EEOWENL, ThZThill Td o,



1. THRFEERMEFRRGES, EH @R
(B ERE BT

3% (B ) 185 (357) BB 2 E) 4% () 4% (BH)
HE | SR | BE | A48 | ZX% | B | 4% | =Y | BF | 4% | % | BFE | 4% | % | @58
* K 1 1 15 - - - 1 3 20 - - - 20 35 132
EFE KR - - - - - - - - - - - - 1 1 3
ER KX 8 32 144 - - - 5 6 22 - - - 18 21 70
bR X - - - - - - - - - - - - - - -
R ILX - - - - - - - - - - - - - - -
WA X 6 25 179 - - - - - - - - - 13 22 66
TRE 1 1 2 - - - - - - - - - - - -
m K - - - 1 3 11 - - - - - - 13 15 94
ERE 6 170 130 - - - 6 18| 138 - - - 17 26| 108
ﬁ:gt!z 17 27| 290 - - - - - - 1 1 2 - - -
7R X 15 29 304 - - - 3 3 29 2 2 3 16 19 69
RKE KX 14 21 170 1 1 15 8 10 63 - - - 40 60 189
& &t 68 153 | 1,234 2 4 26 23 40 272 3 3 4 138 199 731

GE)1 B REZERAE
2 BEIE, FAS1F4A ~TH2EIADEETY,




(B4, &, 7—I)

5 SE1E1FRY
(= 2 2 =
e | E3 | miE | M3 | FH | mE | HE | FH | ®mE | 4% | FH | @

= 1 1 Ji 26 47 210 - - - - - -
ERE _ _ _ _ _ _ _ _ _ _ _ _
ERE - - - 63 95 278 2 2 1 3 3 0
R R - - - 1 2 20 - - - - - -
RIWEK _ _ _ _ _ _ _ _ _ _ _ _
W = - - - 9 15 40 1 2 1 1 1 0
TERE _ _ _ _ _ _ _ _ _ _ _ _
MoK - - - 12 18 91 1 1 1 - - -
BERE
(AL - - - 14 27 114 - - - 1 2 0
ERE

(z=4L) 6 9 40 - - - 1 1 0 2 2 0
A= X 9 13 92 13 22 89 1 1 2 2 2 20
KR KX 4 Ji 50 98 96 608 - - - 15 23 48
PN =t
- " 16 30 149 196 322 1,450 6 7 9 24 33 68

(P11 BH. EXERERAE

2 BUEIL, FRSIF4R ~aH2FEIADERETT, X
3 ARIAIB[R27 —ILREDRRAEEFADEA, SR1RIBTRUSKIRST I A HEAFICROIMIE




2. I ERFREERARRCIEERICKDF AERTE,
4 ERk iR R, AHRRANEEEREROMRMER, EH, miE

(Bfu ##-# EHZ @FE:7-))

EEREABRMIIREE . & et o - . A _
= £ 2 A (S S EHMBMNIETE F -5 EEH R E AR R Bt
st =H miE 53 =H mis 52 E 3 miE 53 =H mis

it X (__) (__) (‘_) 6 7 16 15 34 194 4 21 197

FE R (- (-) (=) B _ ~ ~ ~ _ _ B ~
= (27) (50) (387)

ER KX e 137 1 001 2 4 14 19 35 162 5 10 43

th = X (=) (-) (=) _ _ B _ B _ _ _ _

= X (=) (-) (=) _ _ ~ ~ ~ _ _ _ ~
. (5) (10) (60)

W R X 6 11 105 1 1 4 10 35 177 7 23 158

TERX (= (-) (= _ _ B _ B _ _ _ _

3] X (_1 (‘1) ("é 2 2 7 15 31 181 4 31 140
AR KX (8) (37) (302)

(R AR <) 18 58 465 2 2 / 8 8 69 3 10 70

R KX (68) (128) (1,873) B _ _ _ _ _ _ _ _
(| 4) 83 159 2212
- (35) (47) (520)

mR KX 63 103 | 042 1 2 5 9 21 105 8 40 273

. (12) (23) (183) _

RKER 16 31 249 1 1 40 84 569 18 83 750
= (155) (295) (3,326)

& &t 955 500 5 081 15 19 53 116 248 1,457 49 218 1,631

GE)1 BUEIE, FRS1F4R~FH2F3IADEKETY
2 REREERMRERCLOFAERE (BE) RISV TTRITHEY

, RO )ROBEIFBBOSLHICRESNLD,




3. ERRMOF AR

(Bfu ##-# EH-ZF @ FHA-NL)

X £ e ELAE REA a&t
H 2 FH Eis H 2 E 1 EiE E 1 miE | EMHR| FX EiE
i K - - - 1 69 3 252 1 4 321
ERE 3 3 365 1 430 9 2,760 4 13 3,555
& X 3 3 1,267 1 8 11 2,616 4 15 3,891
ERE 5 5 1,635 1 905 2 601 6 8 3,141
AR EX - - - - - 3 207 - 3 207
RRRKX 5 5 1,357 2 513 5 890 7 12 2,760
& &t 16 16 4,624 6 1,925 33 7,326 22 55 13,875

GE)1 B REZERAE
2 §H243A31ARE




4. B D B E H

(£&(F10ak71=Y)

N FABWM
S KT T Do
F%E — — —
hik:ag(4=3=1 RIEBE~R=5 — — —
E 2 — — —
T8 10,600 16,800 5,000
ch 1L i 38 Bk < xIEE~&=% | 54001 ~18,800M | 5900 ~31,300F | 4,900/ ~5,000M
;EﬁIZI E =2 545 93% 6
4t T8 5,100/ — —
rF L b s xIEZE~&x=% | 4,500M ~6,900M — —
E 2 39% — —
FEE 6,400 - -
Rt ihis xIEZE~x=%8 | 4,800M ~8,900M — —
EH 5% — —
<RIER> AL fE bl
THX 4 th X
it X KED—ERCKE) - /NEFER-ch )1 - E 4 1
E =R KX KEDO—&(BH) -EEF-LAR-A%
£ 1K U U 3t BB
B R X KEEFO—E (ME-BVE- 5 - HIR)
®K R X EeE D — &R (PEFE D)

CEFSBIEIA~SHMTENRAETICHE (AE)SN-E8EBICET2EEHOTYEEZRT,
EHBNDRAIDONTITEEBRIKEEFESTLTLVEL,
SEEIEHERFMBEAAL, 100HBEAICLTLNS,




